MATH 253 - SEC 104 - W2011T1
Quiz no. 3

2:00-2:20pm, Nov 1, 2011

Signatwre: _______________

INSTRUCTIONS: This is a closed-book exam. You may not use any books, notes,
papers, calculators, or other aids. Do all work on the sheets provided. There is an extra
sheet on the back for scratch work. If you need an extra sheet, raise your hand and one will
be provided. If you need more space for your solution, use the back of the sheets and leave
an arrow for the grader. Please draw a box around your final answer.

There are 3 questions, cach worth 10 points. Explain all your answers. Good Luck!



1. Let F{ay) =xyandlet D = {(zy) | 0y 1= z?}. Find the absolute minimum
and maximum values of I in D.
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2. Let f(x,
g(t) = (

B/ﬂ& él"((fh WL
9’[& = I, 51[7[ FAG)

/ 2, by ()
F0@, L) b

V/ﬂ\u - ff’ J

1/ (14 t), cos(t)). Find ¢'(0).

,2) be differentiable at (1,1,1) and such that V(1,1,1) =
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3. Suppose that the equation F'(x,y, z) = 0 implicitly defines each of the three variables

z,y and z in term of the other two :z = f(z,y), vy = g(z,2) and = = h(y, 2)

. As-

sume that F' is differentiable at (z9,0,20) and that F,(xo,v0, 20), (%0, %0, 20) and
F. (o, yo, 20) are all nonzero. Show that
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